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INSTRUCTIONS: (Please read the instructions carefully) 
 
 

• This assignment (case study) covers Lecture No. 01 to 40 of your course. 
 
• This  assignment  includes  not  only  video  lectures  but  also  all  the  helping  materials  like 
handouts, reference book etc. 
 

• This assignment carries total 30 marks, which are segregated in 10 marks for each question. 
 
• You are required to take your time and make your concepts clear to solve this assignment. 
For this purpose, you are being provided a reasonable time to work out your assignment. 

 
• This assignment aims to provide you not only the subjective knowledge but also a practical 
scenario based perspective of the common topics of your course. 

 
• You are required to make this assignment with purely your own effort so that you would be 
able to have a strong clutch over the major topics of this course. 

 
• You are required to make your assignment in MICROSOFT WORD format (Don’t use MS Word 
2007). 

 
• Avoid copying and cheating because copied assignments will be marked ZERO according to 
the defined strict rules. 

 
• Your  instructor for the course will always be there for any guidance. So, you are advised to 
ask only guidelines about the assignment and avoid asking about the solutions. 
 

• You  just  try  to give  the appropriate &  to  the point answers. The unnecessary explanations 
are strictly prohibited. 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 













 
Case Discussion Questions: 
 
 
1. Identify the basic source/type of ‘social’ and ‘resource’ conflicts and what can be the 

useful approaches for resolving these issues. 
 
2. According to the given tables why the Informal practice  is a win‐win strategy other 

then  the  Formal  practice  and  if  this  is  a  useful  approach  then  why  social  and 
resource conflicts still exists? 

 
3. Other then its conclusion, give some possible suggestions for resolving the social and 

resource conflicts. 
 
 
 
 

****************************** 


